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INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Numberin (i) this
Question Booklet and (ji) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.

llustration:

1. Thesumof20and 12is

(@32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

1@ ® 0 @

Half filled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

Keep OMR Answer Sheet straight. Do not fold .

All questions are compulsory, each question carries one
mark.

Use of calculator/mobile/any electronic item/objection
material is NOT permitted.

Controller of Examinations
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Please note that in case of any confusion, the question printed in English may be considered final.
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Sociology differs from common sense in
that:

A. It is subjective and biased.

B. Its knowledge is accumulated from
many different research contexts.

C. It focuses on researcher’s own
experience.

D. It makes little distinction between the
way world is and the way it ought to be.

Who is the writer of “Sociology of Indian
Sociology” ?

A. M.N. Srivinas

B. G.S. Ghurye

C. Radha Kamal Mukherjee
D. Ramkrishn Mukherjee

Whose pupil was August Comte ?
A. Palato

B. Morgan

C. Saint Simon

D. Herbert Spencer

Who said “society is the web of Social
relationship” ?

A. Aristotle

B. Durkheim

C.. August Comte
D. Machver & Page

Who said “Sociology and Anthropology
are twin sisters” ?

A. Kroeber

B. S.C. Dube

C. Hoebel

D. Robert & Redfield
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Who defined the relationship of
Sociology and History as, “History is the
past Sociology and Sociology is the
present History” ?

A. Toynbee

B. Von Bulow
C. Bottomore

D. G.E. Harward

What is the base of caste ?
A. Birth

B. Work

C. Qualities

D. Abilities

What is the base of open stratification ?
A. Property

B. Caste

C. Kinship

D. Race

Which of the following is not an
association ?

A. Village

B. Trade Union

C. Political Groups
D. Cricket club

The word “community” originated from :
A. Greek

B. French

C. Latin

D. English
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Family is a group.

A. Primary

B. Secondary

C. Tertiary

D. All of the Above

Which of the following statements is not
true about culture :

A. Culture is universal

B. Culture is learned behaviour
C. Culture is not dynamic

D. Culture is abstract

The process of Socialization
ends with ?

A. Childhood

B. Death

C. Adulthood

D. None of the above

Subject matter of Sociology is mainly
divided into how many schools ?

A. One
B. Two
C. Three
D. Four

Who is the writer of the book ‘Republic’?
A. Max Weber

B. Plato

C. J.S. Mill

D. Green
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Which status is changeable ?
A. Achieved

B. Ascribe.d

C. BothA&B

D. None of the above

A book ‘Social Change’ is written by ?
A. Karl Marx

B. Machver & Page

C. Cooley

D. Ogburn

Identify the sources of social change
from the following.

A. Invention

B. Discovery

C. Diffusion

D. All of the above

Which of the following is not social
change ?

A. Complex Facts
B. Universal Phenomenon
C. Simple Phenomenon

D. Essential Event

What is the impact of ‘sanskritizatioln’
upon lower caste people of India ?

A. Change in the life style

B. Improved status

C. Decrease in social distance
D. All of the Above
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The concept of westernization was
given by :

A. M.N. Srinivas °
B. Karl Marx

C. August Comte
D. G. S. Ghurye

Which type of families has been
encouraged in India by westernization ?

A. Joint
B. Polyandrous
C. Nuclear

D. Polygamous

Which of the following indicates
modernization ?

A. llliteracy
B. Expansion of Education
C. Conservatism

D. Decline in literacy rate

Which of the following is theory of
Social change ?

A. Cyclic

B. Linear
C.BothA&B

D. None of the Above

The base accepted by Karl Marx for the
formation of class is :

A. Economic
B. Social

C. Religion
D. Culture
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A. Biologipal Concept
B. Endogamous

C. BothA&B

D. None of the Above

‘Positive Philosophy’ is written by :
A. Max Weber

B. Karl Marx

C. Emile Durkheim

D. August Comte

Sanskritization does not change which
of the following :

A. Religion
B. Tradition
C. Rituals

D. Ideology

Which of the following is the factor of
Secularization ?

A. Industrialization

B. Modern Education
C. Government Efforts
D. All of the above

Status and Roles are most often :
A. Unconnected
B. Complementary

C. Role symbol

D. Conflicting
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0% A. 30%

) 400/' B. 40%
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38. XIS gl sy srisy wRa & o 38. National slum development programme

39. 73 9 Haefre GNICE freaforRae & | 39. 73rd constitutional Amendment is

fhas W gefg g7 related with which of the following ?
®) ggT G A. Prime Minister
Q) TRYIfeTaTalt B. Municipalities
RIER C. Cities
®) TATIeRTS ERemait D. Panchayati raj institution
0. "HHIUI SFoRTEy” BT BT e faremy 40. The term ‘white-collar crime’ was first
wehfad faar o ? introduced by :
®) Al IR A. C. Barness
) 3. gRdH B. E. Durkhim
) . WeERels C. E. Sutherland
9) T P D. A. Cohen
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Which city has the biggest slum area in
India ?

A. Delhi

B. Mumbai

C. Chandigarh
D. Kolkata

‘Alcohol and Crime & drugs and crime
are twin sisters.” Who said this ?

A. Dr. Majumdar

B. Dr. Paripurnanand
C. Spencer

D. A. Cohen

What among the following is not crime
in India :

A. Theft

B. Taking Dowry

C. Giving Dowry

D. To borrow money

When a number of ethnic groups each
with its distinctive cultures exist in a
society, it is best known as :

A. A Differentiated Society
B. A Progressive Society
C. A Plural Society

D. A Mixed Society

In which of the article of Indian
constitution the tribes have been
mentioned ?

A. 341
B. 344
C. 340
D. 342
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The Dowry Prohibition Act (Amendment)
was passed in which of the following
year ?

A. 1954
B. 1955
C. 1961
D. 1984

The term ‘Scheduled Caste’ was
coined in the year :

A. 1935
B. 1930
C. 1932
D. 1931

The national commission for minorities
Act was passed in which year?

A. 1990
B. 1991
C. 1992
D. 1994

“Domestic violence protection Act” was
passed in which of the following year ?

A. 2004
B. 2005
C.2006
D. 2003

Who said “Caste is closed class”.
A. G.S. Ghuye

B. Kaka Kalelkar

C. B.R. Ambedkar

D. Majumdar & Madan
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Polyandry system of marriage is
performed in which tribes ?

A. Kadar
B. Santhal
C. Kinnauri
D. Khasi

Polyandry is the form of marriage which
implies :

A. One woman marrying several men

B. One woman marrying one man and
his brothers

C. One man marrying several women

D. One woman marrying one man and
his friends

Who said ‘tribes are backward Hindus’?
A. L.P. Vidyarthi

B. G.S. Ghurye

C. Majumdar

D. Dr. R. N. Mukherjee

Term ‘Glass Ceiling’ denotes which kind
of hidden discrimination in the society ?

A. Women and minorities
B. Men

C. Politicians

D. Players

Eugenics is the set of belief and
practices justifying

A. Racial Superiority
B. Class Superiority
C. Colour Superiority
D. Gender Superiority
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Feminism is the ideology opposing
biased social description of what ?

A. Sex

B. Social Role of Sex
C. Colour

D. Class

‘Multiculturalism’ is related to
harmonious coexistence of what ?

A. Different classes
B. Ethnic communities
C. Political activists

D. Different artists

Which was the first modern industry to
use modern production method ?

A. Textile Industry

B. lron Production
C. Chemical Industry
D. Coal Industry

‘Apartheid’ existed in South Africa as a
system of institutionalized racial
segregation existed between which
periods ?

A. 1948-1991
B. 1950-1992
C. 1948-1993
D. 1948-1994

%
If a disabled person is not able to

compete and prosper in the society then
it requires what remedial measures ?

A. Medical action
B. Medical and Social action
C. Political action

D. Cultural action




